TRI MACHINERY TRADING & RENTAL CO. (L.L.C.)

components, accessories, spare parts for construction machineries

SPARE PARTS FOR CONSTRUCTION MACHINERY
CONCRETE PUMPS, TRUCK MIXERS & BATCHING PLANTS

All manufacturers names, symbols and descriptions used in this catalogue are used for reference purposes only

Dubai Office: P.O. Box: 62520, Dubai - U.A.E. Tel: +9714-2977372, Fax: +9714-2977379
Showroom & Store: Sharjah - U.A.E. Tel: +9716-5346860, Fax: +9716-5346563
E-mail: tridubai@emirates.net.ae  Homepage: www.trimachineries.com

Qatar Branch: German Arab Parts Trading & Services Co. (L.L.C.)
P.O. Box: 4557, Doha - Qatar. Tel.: +974-4504939, 4504912 Fax: +974-4502165
E-mail: infogat@trimachineries.com  Homepage: www.trimachineries.com



TRI MACHINERY TRADING & RENTAL CO. (L.L.C.)

components, accessories, spare parts for construction machineries

INTRODUCTION

We are pleased to introduce our product catalogue to
our customer needs. Here you will find and see most of our
products for concrete pumps, truck mixers & batching plants.
With the policy of protecting the principles of honest working
and increasing quality, we will be pleased to solve your problems
and needs for Concrete Pumps, Truck Mixers & Batching Plants

accessories along with our high quality replacement parts.

All manufacturers names, symbols and descriptions used in this catalogue are used for reference purposes only

Dubai Office: P.O. Box: 62520, Dubai - U.A.E. Tel: +9714-2977372, Fax: +9714-2977379
Showroom & Store: Sharjah - U.A.E. Tel: +9716-5346860, Fax: +9716-5346563
E-mail: tridubai@emirates.net.ae  Homepage: www.trimachineries.com

Qatar Branch: German Arab Parts Trading & Services Co. (L.L.C.)
P.O. Box: 4557, Doha - Qatar. Tel.: +974-4504939, 4504912 Fax: +974-4502165
E-mail: infogat@trimachineries.com  Homepage: www.trimachineries.com



.“.‘

are Parts for

Concrete Pumps

Section 1



TRI MACHINERY TRADING & RENTAL CO. (L.L.C.)

components, accessories, spare parts for construction machineries

>

All manufacturers names, symbols and descriptions used in this catalogue are used for reference purposes only

Dubai Office: P.O. Box: 62520, Dubai - U.A.E. Tel: +9714-2977372, Fax: +9714-2977379
Showroom & Store: Sharjah - U.A.E. Tel: +9716-5346860, Fax: +9716-5346563
E-mail: tridubai@emirates.net.ae  Homepage: www.trimachineries.com

Qatar Branch: German Arab Parts Trading & Services Co. (L.L.C.)
P.O. Box: 4557, Doha - Qatar. Tel.: +974-4504939, 4504912 Fax: +974-4502165
E-mail: infogat@trimachineries.com  Homepage: www.trimachineries.com



TRI MACHINERY TRADING & RENTAL CO. (L.L.C.)

components, accessories, spare parts for construction machineries

Trunk B2214

Pos | Part No. Description Remark
1 01 0524.001 | spectacle plate Duro11
1 01 0862.009 | spectacle plate Duro22
2 01 0341.003 | nut M16
3 01 0365.009 | washer S16
4 01 0414.001 | o-ring 210x 8

All manufacturers names, symbols and descriptions used in this catalogue are used for reference purposes only

Dubai Office: P.O. Box: 62520, Dubai - U.A.E. Tel: +9714-2977372, Fax: +9714-2977379
Showroom & Store: Sharjah - U.A.E. Tel: +9716-5346860, Fax: +9716-5346563
E-mail: tridubai@emirates.net.ae  Homepage: www.trimachineries.com

Qatar Branch: German Arab Parts Trading & Services Co. (L.L.C.)
P.O. Box: 4557, Doha - Qatar. Tel.: +974-4504939, 4504912 Fax: +974-4502165
E-mail: infogat@trimachineries.com  Homepage: www.trimachineries.com



TRI MACHINERY TRADING & RENTAL CO. (L.L.C.)

components, accessories, spare parts for construction machineries

Pos | Part No. Description | Remark
5 01 0280.009 bush

6 01 0220.004 wear ring Duro11
6 01 0862.006 wear ring Duro22
7

8

9

01 0322.003 cap screw M16x90
01 0425.007 cap screw M16x60
01 0220.002 wear plate
10 | 01 0547.003/8/1 | trunkserie
12 | 01 0280.008 tight ener
13 | 01 0280.009 wear strip
14 | 01 0318.004 cap screw M12x25
16 | 01 0365.001 lock washer | VS12

All manufacturers names, symbols and descriptions used in this catalogue are used for reference purposes only

Dubai Office: P.O. Box: 62520, Dubai - U.A.E. Tel: +9714-2977372, Fax: +9714-2977379
Showroom & Store: Sharjah - U.A.E. Tel: +9716-5346860, Fax: +9716-5346563
E-mail: tridubai@emirates.net.ae  Homepage: www.trimachineries.com

Qatar Branch: German Arab Parts Trading & Services Co. (L.L.C.)
P.O. Box: 4557, Doha - Qatar. Tel.: +974-4504939, 4504912 Fax: +974-4502165
E-mail: infogat@trimachineries.com  Homepage: www.trimachineries.com



TRI MACHINERY TRADING & RENTAL CO. (L.L.C.)

components, accessories, spare parts for construction machineries

All manufacturers names, symbols and descriptions used in this catalogue are used for reference purposes only

Dubai Office: P.O. Box: 62520, Dubai - U.A.E. Tel: +9714-2977372, Fax: +9714-2977379
Showroom & Store: Sharjah - U.A.E. Tel: +9716-5346860, Fax: +9716-5346563
E-mail: tridubai@emirates.net.ae  Homepage: www.trimachineries.com

Qatar Branch: German Arab Parts Trading & Services Co. (L.L.C.)
P.O. Box: 4557, Doha - Qatar. Tel.: +974-4504939, 4504912 Fax: +974-4502165
E-mail: infogat@trimachineries.com  Homepage: www.trimachineries.com



TRI MACHINERY TRADING & RENTAL CO. (L.L.C.)

components, accessories, spare parts for construction machineries

Trunk B2314 (blitz trunk)

Pos | Part No. Description | Remark

1 01 2654.005/002 | TrunkB2314

2 01 2695.002 Thrust ring

3 01 2584.007 Wear ring Duro 22

9 01 0226.008 Washer 31 C45

10 | 01 0429.001 Nut self lock | M30x2 8.8
11 01 2479.001 Bolt

12 | 01 2698.004 Lever

15 | 01 0337.001 NutM30x2 8.8

All manufacturers names, symbols and descriptions used in this catalogue are used for reference purposes only

Dubai Office: P.O. Box: 62520, Dubai - U.A.E. Tel: +9714-2977372, Fax: +9714-2977379
Showroom & Store: Sharjah - U.A.E. Tel: +9716-5346860, Fax: +9716-5346563
E-mail: tridubai@emirates.net.ae  Homepage: www.trimachineries.com

Qatar Branch: German Arab Parts Trading & Services Co. (L.L.C.)
P.O. Box: 4557, Doha - Qatar. Tel.: +974-4504939, 4504912 Fax: +974-4502165
E-mail: infogat@trimachineries.com  Homepage: www.trimachineries.com



TRI MACHINERY TRADING & RENTAL CO. (L.L.C.)

components, accessories, spare parts for construction machineries

Trunk B2614 (R2002)

Pos | Part No. Description Remark
1 01 2698.000/2/0 | trunkB2614

2 01 2659.007 coupling ZX5HD
3 01 2659.000 ZX5HD coupling
4 01 2659.009 nut

5 01 0808.003 eye bolt

6 01 0322.007 cap screw M16x70 8.8
9 01 0226.008 washer 31/C45
10 01 0429.001 nut self look 30x2 8.8
1" 01 2479.001 threaded bolt

12 01 2698.004 trunk lever

All manufacturers names, symbols and descriptions used in this catalogue are used for reference purposes only

Dubai Office: P.O. Box: 62520, Dubai - U.A.E. Tel: +9714-2977372, Fax: +9714-2977379
Showroom & Store: Sharjah - U.A.E. Tel: +9716-5346860, Fax: +9716-5346563
E-mail: tridubai@emirates.net.ae  Homepage: www.trimachineries.com

Qatar Branch: German Arab Parts Trading & Services Co. (L.L.C.)
P.O. Box: 4557, Doha - Qatar. Tel.: +974-4504939, 4504912 Fax: +974-4502165
E-mail: infogat@trimachineries.com  Homepage: www.trimachineries.com



TRI MACHINERY TRADING & RENTAL CO. (L.L.C.)

components, accessories, spare parts for construction machineries

Pos Part No. Description Remark

15 01 0337.001 | nut 30x2 8.8

18 01 2839.007 | Pipe mount

19 01 0371.001 | washerB17

20 01 0341.003 | nut M16

21 01 2595.000 | wear plate Duro 22

22 01 2851.004 | wear ring Duro 22

22 new | 01 2933.009 | wear ring Duro 22 o-ring [01 0424.008 |240x5
22new | 01 2931.009 | wearring Duro 22 o-ring [01 0424.018 [ 240x5
23 01 2853.009 | sandwich ring

23 new | 01 2933.000 | thrustring

24 01 2833.008 | spectacle wear plate | Duro 22

27 01 0547.005 | coverZXV125

28 01 0413.005 | o-ring152x5,1

30 01 2595.001 | pressure plate Duro 22

All manufacturers names, symbols and descriptions used in this catalogue are used for reference purposes only

Dubai Office: P.O. Box: 62520, Dubai - U.A.E. Tel: +9714-2977372, Fax: +9714-2977379
Showroom & Store: Sharjah - U.A.E. Tel: +9716-5346860, Fax: +9716-5346563

E-mail: tridubai@emirates.net.ae

Homepage: www.trimachineries.com

Qatar Branch: German Arab Parts Trading & Services Co. (L.L.C.)
P.O. Box: 4557, Doha - Qatar. Tel.: +974-4504939, 4504912 Fax: +974-4502165
E-mail: infogat@trimachineries.com  Homepage: www.trimachineries.com




TRI MACHINERY TRADING & RENTAL CO. (L.L.C.)

components, accessories, spare parts for construction machineries

)4

All manufacturers names, symbols and descriptions used in this catalogue are used for reference purposes only

Dubai Office: P.O. Box: 62520, Dubai - U.A.E. Tel: +9714-2977372, Fax: +9714-2977379
Showroom & Store: Sharjah - U.A.E. Tel: +9716-5346860, Fax: +9716-5346563
E-mail: tridubai@emirates.net.ae  Homepage: www.trimachineries.com

Qatar Branch: German Arab Parts Trading & Services Co. (L.L.C.)
P.O. Box: 4557, Doha - Qatar. Tel.: +974-4504939, 4504912 Fax: +974-4502165
E-mail: infogat@trimachineries.com  Homepage: www.trimachineries.com



TRI MACHINERY TRADING & RENTAL CO. (L.L.C.)

components, accessories, spare parts for construction machineries

Trunk B2214 new

Pos | Part No. Description Remark

1 01 2921.002 | trunkB2214 new!

7 01 2921.001 wear ring 160/135/25
23 | 01 2583.003 | wear plate Duro 22

24 | 01 2931.007 | wearring @200

25 | 01 2931.001 0-ring@210x5
26 | 01 2933.009 | thrustring

27 | 01 0862.009 | spectacle wear plate | Duro 22
34 | 01 2583.007 | wear strip Duro 22
34 | 01 2783.004 | wear strip Duro 22 new

All manufacturers names, symbols and descriptions used in this catalogue are used for reference purposes only

Dubai Office: P.O. Box: 62520, Dubai - U.A.E. Tel: +9714-2977372, Fax: +9714-2977379
Showroom & Store: Sharjah - U.A.E. Tel: +9716-5346860, Fax: +9716-5346563
E-mail: tridubai@emirates.net.ae  Homepage: www.trimachineries.com

Qatar Branch: German Arab Parts Trading & Services Co. (L.L.C.)
P.O. Box: 4557, Doha - Qatar. Tel.: +974-4504939, 4504912 Fax: +974-4502165
E-mail: infogat@trimachineries.com  Homepage: www.trimachineries.com



TRI MACHINERY TRADING & RENTAL CO. (L.L.C.)

components, accessories, spare parts for construction machineries

All manufacturers names, symbols and descriptions used in this catalogue are used for reference purposes only

Dubai Office: P.O. Box: 62520, Dubai - U.A.E. Tel: +9714-2977372, Fax: +9714-2977379
Showroom & Store: Sharjah - U.A.E. Tel: +9716-5346860, Fax: +9716-5346563
E-mail: tridubai@emirates.net.ae  Homepage: www.trimachineries.com

Qatar Branch: German Arab Parts Trading & Services Co. (L.L.C.)
P.O. Box: 4557, Doha - Qatar. Tel.: +974-4504939, 4504912 Fax: +974-4502165
E-mail: infogat@trimachineries.com  Homepage: www.trimachineries.com



TRI MACHINERY TRADING & RENTAL CO. (L.L.C.)

components, accessories, spare parts for construction machineries

S-Valve S-Type (S2018)

Pos | Part No. Description Remark
1 01 0277.000 | Wear sleeve
2 01 0277.009 | Support flange
3 01 0285.008 | Bush90/45/ DUBN
4 01 0161.007 | O-ring90x5
5 01 0678.007 | Lip sealring
6 01 0413.007 | O-ring110x5
7 01 0423.002 | O-ring80x3
8 01 0421.004 | Securing ring 110x4 DIN472
9 01 0665.005 | Collar disc BS 90 DUB
10 [ 01 2382.000 | Dowel pin S 8x16
11 01 0132.009 | O-ring80x4
12 | 01 2614.002 | Dowel pin S 5x16
13 | 01 2510.008 | Pos 13+14 S-valve | S 2018
14 | 01 2283.004 | Wear sleeve

All manufacturers names, symbols and descriptions used in this catalogue are used for reference purposes only

Dubai Office: P.O. Box: 62520, Dubai - U.A.E. Tel: +9714-2977372, Fax: +9714-2977379
Showroom & Store: Sharjah - U.A.E. Tel: +9716-5346860, Fax: +9716-5346563
E-mail: tridubai@emirates.net.ae  Homepage: www.trimachineries.com

Qatar Branch: German Arab Parts Trading & Services Co. (L.L.C.)
P.O. Box: 4557, Doha - Qatar. Tel.: +974-4504939, 4504912 Fax: +974-4502165
E-mail: infogat@trimachineries.com  Homepage: www.trimachineries.com



TRI MACHINERY TRADING & RENTAL CO. (L.L.C.)

components, accessories, spare parts for construction machineries

Set of wear parts @200

-
# 5
Pos 3 HRC 62=AN 229 488.005
HRC 55=AN 240 111.005
Pos 4 HRC 62=AN 251 031.000
HRC 55=AN 251 026.008
Pos | Part No. Description Remark
01 2520.008 Set of wear parts Cpl set
3 01 2294.005 Spectacle wear plate HRC 62 Duro22
3 01 2401.005 Spectacle wear plate HRC 55 Duro11
4 01 2510.000 Wear ring HRC 62 Duro22
4 01 2510.008 Wear ring HRC 55 Duro11
5

01 2693.008 Thrust ring

All manufacturers names, symbols and descriptions used in this catalogue are used for reference purposes only

Dubai Office: P.O. Box: 62520, Dubai - U.A.E. Tel: +9714-2977372, Fax: +9714-2977379
Showroom & Store: Sharjah - U.A.E. Tel: +9716-5346860, Fax: +9716-5346563
E-mail: tridubai@emirates.net.ae  Homepage: www.trimachineries.com

Qatar Branch: German Arab Parts Trading & Services Co. (L.L.C.)
P.O. Box: 4557, Doha - Qatar. Tel.: +974-4504939, 4504912 Fax: +974-4502165
E-mail: infogat@trimachineries.com  Homepage: www.trimachineries.com



TRI MACHINERY TRADING & RENTAL CO. (L.L.C.)

components, accessories, spare parts for construction machineries

S-Valve pipe drive

Pos | Part No. Description Remark

01 2544.005 Swinging lever
01 0323.003 Cap screw M12x25 8.8
01 0365.001 Lock washer VS12

01 2545.000 Securing plate
01 0337.000 Nut M42x3 8.8
01 2545.009 | Washer

0278.009 Upper housing cplt.

-_— -
olalo|o|~|o|ua|ls]w|v|=
o
—_—

01 0324.006 Cap screw M20x70 8.8
01 2918.006 Cap screw M16x110 10.9
01 0341.003 Nut M16 10.9
01 2563.004 Ball cup

20 | 01 2574.007 Disc 70x4

21 01 2613.005 Securing plate

All manufacturers names, symbols and descriptions used in this catalogue are used for reference purposes only

Dubai Office: P.O. Box: 62520, Dubai - U.A.E. Tel: +9714-2977372, Fax: +9714-2977379
Showroom & Store: Sharjah - U.A.E. Tel: +9716-5346860, Fax: +9716-5346563
E-mail: tridubai@emirates.net.ae  Homepage: www.trimachineries.com

Qatar Branch: German Arab Parts Trading & Services Co. (L.L.C.)
P.O. Box: 4557, Doha - Qatar. Tel.: +974-4504939, 4504912 Fax: +974-4502165
E-mail: infogat@trimachineries.com  Homepage: www.trimachineries.com



TRI MACHINERY TRADING & RENTAL CO. (L.L.C.)

components, accessories, spare parts for construction machineries

Core pump

All manufacturers names, symbols and descriptions used in this catalogue are used for reference purposes only

Dubai Office: P.O. Box: 62520, Dubai - U.A.E. Tel: +9714-2977372, Fax: +9714-2977379
Showroom & Store: Sharjah - U.A.E. Tel: +9716-5346860, Fax: +9716-5346563
E-mail: tridubai@emirates.net.ae  Homepage: www.trimachineries.com

Qatar Branch: German Arab Parts Trading & Services Co. (L.L.C.)
P.O. Box: 4557, Doha - Qatar. Tel.: +974-4504939, 4504912 Fax: +974-4502165
E-mail: infogat@trimachineries.com  Homepage: www.trimachineries.com



TRI MACHINERY TRADING & RENTAL CO. (L.L.C.)

components, accessories, spare parts for construction machineries

Core pump 2100/230

Pos | Part No. Description Remark
01 2459.009 Core pump set 2100/230
1 01 0526.003 Connecting plate
2 01 2628.008 Hydraulic cylinder 2100-140/80
3 01 2549.003 Water box WK 260
4 01 2398.001 Delivery cylinder @230x2100
5 01 2522.001 Intermediate ring
6 01 0414.001 O-ring 210x8 DIN3770NB70
7 01 0339.000 Hexagonal nut M30x2 DIN936-17H
8 01 0337.001 Hexagonal nut M30x2 DIN934-8
21 | 01 0881.005 Tie rod
22 | 01 0436.005 O-ring 235x5 DIN3770NB70
24 | 01 0190.006 Rubber buffer
26 | 01 0881.000 Tie rod
27 | 01 0881.002 Turnbuckle sleeve M30x2R/L
28 | 01 0881.003 Tie rod
30 [ 01 0366.005 Securing plate 31 DIN93-St

All manufacturers names, symbols and descriptions used in this catalogue are used for reference purposes only

Dubai Office: P.O. Box: 62520, Dubai - U.A.E. Tel: +9714-2977372, Fax: +9714-2977379
Showroom & Store: Sharjah - U.A.E. Tel: +9716-5346860, Fax: +9716-5346563
E-mail: tridubai@emirates.net.ae  Homepage: www.trimachineries.com

Qatar Branch: German Arab Parts Trading & Services Co. (L.L.C.)
P.O. Box: 4557, Doha - Qatar. Tel.: +974-4504939, 4504912 Fax: +974-4502165
E-mail: infogat@trimachineries.com  Homepage: www.trimachineries.com



TRI MACHINERY TRADING & RENTAL CO. (L.L.C.)

components, accessories, spare parts for construction machineries

Delivery cylinder hardchromed

All manufacturers names, symbols and descriptions used in this catalogue are used for reference purposes only

Dubai Office: P.O. Box: 62520, Dubai - U.A.E. Tel: +9714-2977372, Fax: +9714-2977379
Showroom & Store: Sharjah - U.A.E. Tel: +9716-5346860, Fax: +9716-5346563
E-mail: tridubai@emirates.net.ae  Homepage: www.trimachineries.com

Qatar Branch: German Arab Parts Trading & Services Co. (L.L.C.)
P.O. Box: 4557, Doha - Qatar. Tel.: +974-4504939, 4504912 Fax: +974-4502165
E-mail: infogat@trimachineries.com  Homepage: www.trimachineries.com



TRI MACHINERY TRADING & RENTAL CO. (L.L.C.)

components, accessories, spare parts for construction machineries

Delivery cylinder

‘i
-~
1

Pos Part No. Description Remark

1 01 0220.005 | Delivery cylinder | ©@230x2100
1new | 01 2398.001 Delivery cylinder | @230x2100
1 01 0220.008 Delivery cylinder | @230x2100
1 01 0242.009 Delivery cylinder | @180x2100
1new | 01 2402.001 Delivery cylinder | @180x2100
1 01 0220.009 Delivery cylinder | @230x1400
1new | 01 2398.002 Delivery cylinder | @230x1400
1 01 0228.000 Delivery cylinder | @200x1400
1new | 01 2401.004 Delivery cylinder | @200x1400
1 01 0241.004 Delivery cylinder | @180x1400
1new | 01 2399.001 Delivery cylinder | ©@180x1400

All manufacturers names, symbols and descriptions used in this catalogue are used for reference purposes only

Dubai Office: P.O. Box: 62520, Dubai - U.A.E. Tel: +9714-2977372, Fax: +9714-2977379

Showroom & Store: Sharjah - U.A.E. Tel: +9716-5346860, Fax: +9716-5346563

E-mail: tridubai@emirates.net.ae

Homepage: www.trimachineries.com

Qatar Branch: German Arab Parts Trading & Services Co. (L.L.C.)
P.O. Box: 4557, Doha - Qatar. Tel.: +974-4504939, 4504912 Fax: +974-4502165
E-mail: infogat@trimachineries.com  Homepage: www.trimachineries.com




TRI MACHINERY TRADING & RENTAL CO. (L.L.C.)

components, accessories, spare parts for construction machineries

Hydraulic Cylinder / Trunk

(3-8)

Pos | Part No. Description Remark
0 01 0857.009 | Hydraulic cylinder 160-50/28
1 01 0836.005 | Cylinder tube
2 01 0548.002 | Joint head
3 01 0564.008 | Joint head
4 01 0426.002 | Securing ring 47x1,75 DIN472
5 01 0635.005 | Pivoting bearing
6 01 0161.007 | Conical lubr. nipple BM10x1 DIN71412
7 01 0323.006 | Hexagon head cap screw | M10x25 DIN933-8.8
8 01 0367.000 | Securing plate 10,5 Din463-St
9 01 0542.000 | Lid
10 | 01 0542.009 | Guide bush
11 01 0836.003 Piston rod with piston
12 | 01 0866.004 | Set of seals
13 | 01 0635.007 | Lip sealring

All manufacturers names, symbols and descriptions used in this catalogue are used for reference purposes only

Dubai Office: P.O. Box: 62520, Dubai - U.A.E. Tel: +9714-2977372, Fax: +9714-2977379
Showroom & Store: Sharjah - U.A.E. Tel: +9716-5346860, Fax: +9716-5346563
E-mail: tridubai@emirates.net.ae  Homepage: www.trimachineries.com

Qatar Branch: German Arab Parts Trading & Services Co. (L.L.C.)
P.O. Box: 4557, Doha - Qatar. Tel.: +974-4504939, 4504912 Fax: +974-4502165
E-mail: infogat@trimachineries.com  Homepage: www.trimachineries.com



TRI MACHINERY TRADING & RENTAL CO. (L.L.C.)

components, accessories, spare parts for construction machineries

Pos | Part No. Description Remark

14 | 01 0410.000 | O-ring 44 ,2x3 DIN3770NB70
15 | 01 0635.006 | Scraper ring
16 | 01 0659.007 | Piston guide ring
17 | 01 0659.006 | Set of seals
18 | 01 0636.009 | Back-up ring

19 | 01 0426.002 | Securing ring 47x1,75 DIN472

20 | 01 0635.005 | Pivoting bearing

21 | 01 0161.007 | Conical lubr. nipple BM10x1 DIN71412
22 | 01 0672.003 | Hexagon head cap screw | M12x35 DIN933-10.9
23 | 01 0654.004 | Plug M18x1,5

All manufacturers names, symbols and descriptions used in this catalogue are used for reference purposes only

Dubai Office: P.O. Box: 62520, Dubai - U.A.E. Tel: +9714-2977372, Fax: +9714-2977379
Showroom & Store: Sharjah - U.A.E. Tel: +9716-5346860, Fax: +9716-5346563
E-mail: tridubai@emirates.net.ae  Homepage: www.trimachineries.com

Qatar Branch: German Arab Parts Trading & Services Co. (L.L.C.)
P.O. Box: 4557, Doha - Qatar. Tel.: +974-4504939, 4504912 Fax: +974-4502165
E-mail: infogat@trimachineries.com  Homepage: www.trimachineries.com



TRI MACHINERY TRADING & RENTAL CO. (L.L.C.)

components, accessories, spare parts for construction machineries

All manufacturers names, symbols and descriptions used in this catalogue are used for reference purposes only

Dubai Office: P.O. Box: 62520, Dubai - U.A.E. Tel: +9714-2977372, Fax: +9714-2977379
Showroom & Store: Sharjah - U.A.E. Tel: +9716-5346860, Fax: +9716-5346563
E-mail: tridubai@emirates.net.ae  Homepage: www.trimachineries.com

Qatar Branch: German Arab Parts Trading & Services Co. (L.L.C.)
P.O. Box: 4557, Doha - Qatar. Tel.: +974-4504939, 4504912 Fax: +974-4502165
E-mail: infogat@trimachineries.com  Homepage: www.trimachineries.com



TRI MACHINERY TRADING & RENTAL CO. (L.L.C.)

components, accessories, spare parts for construction machineries

Hydraulic Drive cylinder 2100-140/80

Pos | Part No. Description Remark
01 2628.008 | Hydraulic cylinder 2100-140/80
1 01 2628.007 | Cylinder tube
2 01 2354.009 | Piston
3 01 2351.008 | Piston
4 01 0411.009 | O-ring 70x3 DIN3770 NB70
5 01 0670.002 | Cheese head screw M16x80 DIN912-8.8MK
6 01 2352.007 | Rod guide ring
7 01 0427.002 | Plain compression ring
8 01 2351.003 | Rod guide ring
9 01 2373.002 | Piston ring

10 | 01 0879.000 | Piston ring

11 | 01 2283.000 | Guide bush
12 | 01 0665.008 | Guide ring

13 | 01 0536.008 | Head flange
14 | 01 0636.008 | Rod guide ring
15 | 01 0241.007 | Set of seals
16 | 01 0629.000 | Lip seal ring

17 | 01 0427.000 | O-ring 130x5 DIN3770 NB70
18 | 01 0636.006 | Back up ring

19 | 01 0552.003 | Safety screw M12x35

20 | 01 0427.007 | O-ring 52x3,5 DIN3770 NB90O

21 01 0558.004 | Back up ring

All manufacturers names, symbols and descriptions used in this catalogue are used for reference purposes only

Dubai Office: P.O. Box: 62520, Dubai - U.A.E. Tel: +9714-2977372, Fax: +9714-2977379
Showroom & Store: Sharjah - U.A.E. Tel: +9716-5346860, Fax: +9716-5346563
E-mail: tridubai@emirates.net.ae  Homepage: www.trimachineries.com

Qatar Branch: German Arab Parts Trading & Services Co. (L.L.C.)
P.O. Box: 4557, Doha - Qatar. Tel.: +974-4504939, 4504912 Fax: +974-4502165
E-mail: infogat@trimachineries.com  Homepage: www.trimachineries.com



TRI MACHINERY TRADING & RENTAL CO. (L.L.C.)

components, accessories, spare parts for construction machineries

Filter cartridge

high pressure filter suction filter
Pos | Part No. Description Remark

1 01 2228.006 | Suction filter 10pm

1 01 2255.004 | Suction filter 60um

1 01 2289.004 | Suction filter 25um

1 01 2738.007 | High pressure element 10um

1 01 2489.003 | High pressure element 10um

1 01 2231.009 10pum

1 01 0611.003 | Suction filter 10pm

All manufacturers names, symbols and descriptions used in this catalogue are used for reference purposes only

Dubai Office: P.O. Box: 62520, Dubai - U.A.E. Tel: +9714-2977372, Fax: +9714-2977379
Showroom & Store: Sharjah - U.A.E. Tel: +9716-5346860, Fax: +9716-5346563
E-mail: tridubai@emirates.net.ae  Homepage: www.trimachineries.com

Qatar Branch: German Arab Parts Trading & Services Co. (L.L.C.)
P.O. Box: 4557, Doha - Qatar. Tel.: +974-4504939, 4504912 Fax: +974-4502165
E-mail: infogat@trimachineries.com  Homepage: www.trimachineries.com



TRI MACHINERY TRADING & RENTAL CO. (L.L.C.)

components, accessories, spare parts for construction machineries

Accelerator Cable

Pos | Part No. Description Remark
1 01 0183.000 | Remote control lever | 2800mm
2 01 0183.000 | Remote control lever | 3500mm
3 01 0187.000 | Remote control lever | 4500mm
4 01 0634.004 | Remote control lever | 6000mm
5 01 2610.002 | Remote control lever | 7100mm
6 01 0630.005 | Rubber bellow

All manufacturers names, symbols and descriptions used in this catalogue are used for reference purposes only

Dubai Office: P.O. Box: 62520, Dubai - U.A.E. Tel: +9714-2977372, Fax: +9714-2977379
Showroom & Store: Sharjah - U.A.E. Tel: +9716-5346860, Fax: +9716-5346563
E-mail: tridubai@emirates.net.ae  Homepage: www.trimachineries.com

Qatar Branch: German Arab Parts Trading & Services Co. (L.L.C.)
P.O. Box: 4557, Doha - Qatar. Tel.: +974-4504939, 4504912 Fax: +974-4502165
E-mail: infogat@trimachineries.com  Homepage: www.trimachineries.com



TRI MACHINERY TRADING & RENTAL CO. (L.L.C.)

components, accessories, spare parts for construction machineries

Remote control cable (24 pol)

Pos | Part No. Description Remark
01 0887.008 Remote control cable cpl. 25m
01 0887.009 40m
1 01 0649.004 Socket housing
2 01 0421.009 Socket housing
3 01 0421.002 Plug insert
4 01 0421.001 Plug socket insert
5 01 2232.000 Cable srew fitting
6 01 0417.009 Reducing ring
7 01 0417.008 Reducing ring
8 01 0677.000 Seal ring
9 01 0677.009 Seal ring
10 | 01 0676.000 Cable / meter 24x0,5 + 1x1
32x0,5 + 1x1
11 01 2232.008 Grommet

All manufacturers names, symbols and descriptions used in this catalogue are used for reference purposes only

Dubai Office: P.O. Box: 62520, Dubai - U.A.E. Tel: +9714-2977372, Fax: +9714-2977379
Showroom & Store: Sharjah - U.A.E. Tel: +9716-5346860, Fax: +9716-5346563
E-mail: tridubai@emirates.net.ae  Homepage: www.trimachineries.com

Qatar Branch: German Arab Parts Trading & Services Co. (L.L.C.)
P.O. Box: 4557, Doha - Qatar. Tel.: +974-4504939, 4504912 Fax: +974-4502165
E-mail: infogat@trimachineries.com  Homepage: www.trimachineries.com



TRI MACHINERY TRADING & RENTAL CO. (L.L.C.)

components, accessories, spare parts for construction machineries

Delivery piston with spacer flange

Pos Part No. Description Remark

1 01 0426.000 | Head screw M16x40 8.8
2 01 0426.003 | Head screw M16x30 8.8
3 01 2635.001 | Piston rod flange

4 01 0426.007 | Hexagon head cap screw M16x50 8.8
5 01 0224.003 | Steel wire @1 DIN177

6 01 0220.000 | Spacer flange

7 01 0190.000 | Delivery piston @180

7 01 0194.000 | Delivery piston @200

7 01 0190.001 | Delivery piston @230

7 new! | 01 2628.000 | Delivery piston @230 new!

9 01 0365.009 | Lock washer VS16

All manufacturers names, symbols and descriptions used in this catalogue are used for reference purposes only

Dubai Office: P.O. Box: 62520, Dubai - U.A.E. Tel: +9714-2977372, Fax: +9714-2977379
Showroom & Store: Sharjah - U.A.E. Tel: +9716-5346860, Fax: +9716-5346563
E-mail: tridubai@emirates.net.ae  Homepage: www.trimachineries.com

Qatar Branch: German Arab Parts Trading & Services Co. (L.L.C.)
P.O. Box: 4557, Doha - Qatar. Tel.: +974-4504939, 4504912 Fax: +974-4502165
E-mail: infogat@trimachineries.com  Homepage: www.trimachineries.com



